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1.1 100 Hz P &SRS 2k

¢ 1: 100 Hz T BRA A RIRE MY ] 26 i ) e 45 2R

WEREL | Up,(mV) | H(A/m) | Uo(mV) | B(mT)
1 212.0 122.3 14.40 387.1
2 91.0 52.5 12.50 336.0
3 31.0 17.9 8.70 233.9
4 0.00 0.00 3.65 98.1
) -6.00 -3.46 2.10 56.4
6 -11.0 -6.35 1.05 28.2
7 -16.5 -9.52 0.00 0.00
8 -36.0 -20.8 -4.00 -107.5
9 -80.0 -46.2 -10.10 -271.5
1 -217.0 -125.2 -14.40 -387.1
2 -58.0 -33.5 -11.35 -305.1
3 -18.0 -10.4 -7.75 -208.3
4 0.00 0.00 -4.15 -111.6
5 12.5 7.21 -2.00 -53.8
6 17.5 10.1 -1.00 -26.9
7 22.0 12.7 0.00 0.00
8 51.0 29.4 5.60 150.5
9 101.5 58.6 11.10 298.4
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WAL 2Uc =288mV ~ Bg=387.10mT
@G 2Uc =7.80mV B, =104.84mT
Wmity: 2Ug, =38.0mV  He = 10.96A/m
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AN BRI 7R AN 5 B AR 2% %) BEAELRY 0.3%. W& Uc I
ZIEAE R 50mV, & Ug, BIHEZIE(EH 500mV, FrPA

R, C
O2Uo :2%X2UC+015H1V 0B, = O2ys X 2];?
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O2URr, = 2% x 2UR1 + 1.5mV 0B, = 02U X =555~
1 2lR,
1. f =50 Hz:
Flfi: 2Uc =7.60mV  op =4mT B, = (102+4)mT

Wi 2Up, =36.5mV  op. =0.6A/m  He = (10.5+0.6)A/m
2. f=100Hz:

i 2Uc =7.80mV op, =4mT B, = (104 £ 4)mT
Wi S 2Uk, =38.0mV oy, =06A/m  He = (10.9+0.6) A/m

3. f =150Hz:

Bl 2Uc =7.60mV  op =4mT B, = (102 £ 4)mT
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1.3 50Hz FARBUMS b Fi45 b

K 2: RC = 0.01s [Z=p=nia

K 3: RC = 0.05s [Z=EEnE



K 4: RC = 0.5s BZEREE

1.4 100Hz pahsuzfbiige

7 2: 100 Hz 75wt i 22 i 450

WERRUCHC | Ur, (V) | Ho(Am) | UlunV) | B(anT) | o = it
1 4.08 2.35 0.360 9.68 3277.9
2 14.75 8.51 1.40 37.6 3516.0
3 24.7 14.2 2.65 71.2 3990.1
4 34.7 20.0 4.00 107.5 4277.3
5 44.7 25.8 5.40 145.2 4478.5
6 54.8 31.6 6.75 181.4 4568.1
7 64.8 37.4 7.85 211.0 4489.5
8 74.8 43.2 8.85 237.9 4382.3
9 84.8 48.9 9.80 263.4 4286.4
10 94.8 54.7 10.55 283.6 4125.8
11 110.0 63.5 11.60 311.8 3907.4
12 125.0 72.1 12.20 328.0 3620.2
13 140.0 80.8 12.70 341.4 3362.3
14 155.0 89.4 13.05 350.8 3122.6
15 170.0 98.1 13.40 360.2 2921.9
16 185.0 106.7 13.70 368.3 2746.8
17 200.0 115.4 13.95 375.0 2585.9
18 230.0 132.7 14.20 381.7 2289.0
19 260.0 150.0 14.45 388.4 2060.5
20 290.0 167.3 14.65 393.8 1873.1
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Hm(Alm)

N R L]
2Uc(mV) | B,,(mT) | 2Uc(mV) | B,(mT) | 2Ug,(mV) | Hc(A/m)
f=20Hz 65.7 912.5 40.4 561.1 20.9 104.5
f=40Hz 65.5 909.7 42.3 587.5 242 121
f=60Hz 65.3 906.9 43.8 608.3 278 139
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